T2 2FEE 12 AV) U BERHEEDRER

(18:00~21:00)

i IRBUS i H N o
B A - B @) SR 1 2 3
1| 4+ 6(Kk) a i
2 - 8(K) = v ¥V ry K K
3| -13(Kk) L vEeE | mAE
4] +15(K) £ B (1) (ZoProFRK)
5| -200K) I HIERE JR Bt 3 &
6| -220K) S (2) [(To2ooFE, BREE. FHEE. BHEE)
71 -270k) PRBLEE o oHE RO#E O
8] 5-11(k) 5 = 18 &
9] +13(K) £ B (3) (BRHZE. RESEE. EREE)
e ®. & = =
12| -250k) S (4) (BEREE)
13 -270K) EXEE T
14| 6+ 1(k)
15+ 30K) £ B (5) (EFHHEE)
16| - 8(k) ARG 2%*4&0;&%@% TV DR - B
17 -100K) ™ YD R B B HEZERRBR (1)
18] -15(k) £ & (6) (v ~>’>0);‘—i1§ Bim)
19 -170K) TV DR - B g fE R w oK
20  -22(k)i © £ F (7)) (HEREEER)
21 -24(K)i © £E (8) [(HEFEEPR) B B ®¥ B #H B
29[ +29(k) D ?
iz 7: éii; ) 5 1% =3 4k = S —
25| -+ 8(K) £ & (9) (BhizEEE)
26|  +13(k) T ANV AR g
27  +150K) A7 7 ) > 7 % #
28] -200k) E F (10) (BHEEEE. 7OALRUYRRY Y3y, RF7Y VT EE]
29|  +22(K) ATV D R — VR OEA Y RA =) TIA AL b
30 -270k) R-NTFA A7 va L — X ¥ E
31| +290k) P L— AR T — wox ¥ E
32[ 8+ 3(k) £ F (11) (RFFTIVVITEE., TL—FEE)
33|+ 50kK) 5 = 18 [
34| -17(k) DEmROoEmAT R 2 R YEE & MM R o A R
35| +19(K) L AR (2)
36 -24(k) £ B (12) (RREEFEHRREORR)
371 -26(K) o A MR O RR [N Y S
38| +31(%) e BE RO R Ll B i #
39| 9+ 20K) % H
40 - 70k © £ T (13) (RRELHGHERORRE., WEREEER)
411+ 90K) % b5 TV URRRA
42| +140k) — v Y v OB A ¥ VR E
431 -160K): © ®E (14) (HERE KR | g T £ H # B
44 -210Kk) Yox v omoR A : &7 ERHB

X OIARABHISIZTIT

WET., (REZS

r1>‘

I¢

S RAR4—16—4)



